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Example

1. Express  in terms of .

Watch Video Solution

sin 320∘ θR

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lyV3CJ86IvHy


2. Express  in terms of .

Watch Video Solution

cot 200∘ θR

3. Express  in terms of .

Watch Video Solution

cos 130∘ θR

4. If both the angles are acute and

, find xsin(3x + 20∘ ) = cos(2x − 40∘ )

https://dl.doubtnut.com/l/_lyV3CJ86IvHy
https://dl.doubtnut.com/l/_S80P0tTM7TAQ
https://dl.doubtnut.com/l/_z0k9xslTOXZQ
https://dl.doubtnut.com/l/_BCk3MRrXuEiJ


Watch Video Solution

5. In each of the following, convert the degrees

to radians or the radians to degrees. 

(if no unit of measurement is indicated,

radians are assumed.) 

Q. 

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_BCk3MRrXuEiJ
https://dl.doubtnut.com/l/_iG3ojaHT2RuI


6. In each of the following, convert the degrees

to radians or the radians to degrees. 

(if no unit of measurement is indicated,

radians are assumed.) 

Q. 

Watch Video Solution

270∘

7. In each of the following, convert the degrees

to radians or the radians to degrees. 

(if no unit of measurement is indicated,

https://dl.doubtnut.com/l/_boRuxx8zNDj2
https://dl.doubtnut.com/l/_4xZt9qJaoBHu


radians are assumed.) 

Q. 

Watch Video Solution

π

4

8. In each of the following, convert the degrees

to radians or the radians to degrees. 

(if no unit of measurement is indicated,

radians are assumed.) 

Q. 

Watch Video Solution

17π

3

https://dl.doubtnut.com/l/_4xZt9qJaoBHu
https://dl.doubtnut.com/l/_skWYcbZoCmRK
https://dl.doubtnut.com/l/_iF3dQn094E01


9. In each of the following, convert the degrees

to radians or the radians to degrees. 

(if no unit of measurement is indicated,

radians are assumed.) 

Q. 24

Watch Video Solution

10. Find the area of the sector and length of

the arc subtended by a central angle of 

radians in a circle whose radius is 6 inches.

Watch Video Solution

2π

3

https://dl.doubtnut.com/l/_iF3dQn094E01
https://dl.doubtnut.com/l/_gl4vNR7qDmJx


11. In a circle of radius 8 inches, find the area of

the sector whose are length is  inches.

Watch Video Solution

6π

12. Find the length of the radius of a circle in

which a central angle of  subtends an are

of length  inches.

Watch Video Solution

60∘

8π

https://dl.doubtnut.com/l/_gl4vNR7qDmJx
https://dl.doubtnut.com/l/_DR5nT6E2tVjC
https://dl.doubtnut.com/l/_ntLF7vVLS8SQ
https://dl.doubtnut.com/l/_FDLXDwjDadNg


13. Determinee the amplitude, period, and

phase shift of  and sketch at least

one period of the graph.

Watch Video Solution

y = 2 sin 2x

14. Determine the amplitude, period, and

phase shift of  and

sketch at leasst one period of the graph.

Watch Video Solution

y = cos( x − )
1

2

1

2

π

3

https://dl.doubtnut.com/l/_FDLXDwjDadNg
https://dl.doubtnut.com/l/_Vl22BxmaN7p1
https://dl.doubtnut.com/l/_WPhRdOf6BKmr


15. Determine the amplitude,period, and phase

shift to y=-2sin  and sketch at least

one period of the graph.

Watch Video Solution

(πx + 3π)

16. Given , find

sin .

Watch Video Solution

cos θ = − and < θ < π
2

3

π

2

2θ

https://dl.doubtnut.com/l/_WPhRdOf6BKmr
https://dl.doubtnut.com/l/_NsGOb3uMnLeM


17. If , find the value of  in

terms of z.

Watch Video Solution

cos 23∘ = z cos 46∘

18. If , find  in terms of A.

Watch Video Solution

sin x = A cos 2x

19. Solve  for 

.

2 sin x + cos 2x + 2 sin2 x − 1

0 ≤ x ≤ 2π

https://dl.doubtnut.com/l/_jvyHoBB6gtY8
https://dl.doubtnut.com/l/_dqkvzl2R5q91
https://dl.doubtnut.com/l/_AXbUWrz4QMqv


Watch Video Solution

20. Find values of x on the interval  for

which .

Watch Video Solution

[0, π]

cos x ≤ sin 2x

21. Evaluate the radian measure of .

Watch Video Solution

tan− 1 8

9

https://dl.doubtnut.com/l/_AXbUWrz4QMqv
https://dl.doubtnut.com/l/_CAJk8llbIbjI
https://dl.doubtnut.com/l/_Uio2ktYLlffi


22. Evaluate the degree measure off

Watch Video Solution

sin− 1 0.8759

23. Evaluate the degree measure of

.

Watch Video Solution

sec− 1 3.4735

24. Evaluate cos(cos − 1 0.72)

https://dl.doubtnut.com/l/_kc3Q0MoAbM4C
https://dl.doubtnut.com/l/_bsmmuWYFjOQ1
https://dl.doubtnut.com/l/_2pZ1G9QLer29


Watch Video Solution

25. Evaluate .

Watch Video Solution

sin− 1(sin 265∘ )

26. Evaluate sin .

Watch Video Solution

(cos − 1 )
3

5

27. Evaluate .cot − 1( − 5.2418)

https://dl.doubtnut.com/l/_2pZ1G9QLer29
https://dl.doubtnut.com/l/_4AdxHs7cFl4N
https://dl.doubtnut.com/l/_7y3n8LooXiHL
https://dl.doubtnut.com/l/_6ASVJ2HeSwih


Mcqs Exercise

Watch Video Solution

1. Express cos  as a function of an angle

between  


I.  


II.  


III. 

A. I only

B. II only

320∘

0∘ and 90∘

cos 40∘

sin 50∘

cos 50∘

https://dl.doubtnut.com/l/_6ASVJ2HeSwih
https://dl.doubtnut.com/l/_3D1PvgSYWImu


C. III only

D. I and II

Answer: D

Watch Video Solution

2. If point  lies on the terminal side

of  in standard position, =

A. 

B. 

P ( − 5, 12)

∠θ sin θ

−
12

13

−5

12

https://dl.doubtnut.com/l/_3D1PvgSYWImu
https://dl.doubtnut.com/l/_lAsMzEkjgTfh


C. 

D. 

Answer: D

Watch Video Solution

−5

13

12

13

3. If  and , then =

A. 

B. 

C. 

sec θ = −
5

4
sin θ > 0 tan θ

4
3

3

4

−
3

4

https://dl.doubtnut.com/l/_lAsMzEkjgTfh
https://dl.doubtnut.com/l/_vv2cBH7gVYeK


D. 

Answer: C

Watch Video Solution

−
4
3

4. If x is an angle in quadrant III and tan

, find x

A. 

B. 

C. 

(x − 30∘ ) = cot x

240∘

225∘

210∘

https://dl.doubtnut.com/l/_vv2cBH7gVYeK
https://dl.doubtnut.com/l/_a3U4a76oSocS


D. 

Answer: A

Watch Video Solution

60∘

5. If ,

then which of the following cannot be true?

A. 

B. 

C. 

90∘ < α < 180∘ and 270∘ < β < 360∘

sin α = sin β

tan α = sin β

tan α = tan β

https://dl.doubtnut.com/l/_a3U4a76oSocS
https://dl.doubtnut.com/l/_m72Nem0kZWjS


D. 

Answer: A

Watch Video Solution

sin α = cos β

6. Expressed as a function of an acute angle,

=

A. 

B. 

C. 

cos 310∘

−sin 50∘

−sin 40∘

−cos 50∘

https://dl.doubtnut.com/l/_m72Nem0kZWjS
https://dl.doubtnut.com/l/_Exa5Eijpx9Kp


D. 

Answer: D

Watch Video Solution

cos 50∘

7. An angle of 30 radians is equal to how many

degrees?

A. 

B. 

C. 

π

30

π

6

30

π

https://dl.doubtnut.com/l/_Exa5Eijpx9Kp
https://dl.doubtnut.com/l/_BSZOB1Re5Whk


D. 

Answer: D

Watch Video Solution

5, 400

π

8. If a sector of a circle has an arc length of 

inches and an area of  square inches, what

is the length of the radius of the circle?

A. 1

B. 2

2π

6π

https://dl.doubtnut.com/l/_BSZOB1Re5Whk
https://dl.doubtnut.com/l/_Fe8S2Bxr1CbZ


C. 3

D. 6

Answer: D

Watch Video Solution

9. If a circle has a circumference of 16 inches,

the area of a sector with a central angle of 4.7

radians is

A. 10

https://dl.doubtnut.com/l/_Fe8S2Bxr1CbZ
https://dl.doubtnut.com/l/_MtsP2U8NJlAM


B. 12

C. 15

D. 25

Answer: C

Watch Video Solution

10. A central angle of  in a circle of radius 1

inch intercepts an arc whose length is s. find s.

A. 0.7

40∘

https://dl.doubtnut.com/l/_MtsP2U8NJlAM
https://dl.doubtnut.com/l/_8O0GHOJVCQwl


B. 1.4

C. 2

D. 3

Answer: A

Watch Video Solution

11. the pendulum on a clock swings through an

angle , and the tip sweeps out an arc of 12

inches. How long is the pendulum?

25∘

https://dl.doubtnut.com/l/_8O0GHOJVCQwl
https://dl.doubtnut.com/l/_iqPaGRG68moN


A. 1.67 inches

B. 13.8 inches

C. 27.5 inches

D. 43.2 inches

Answer: C

Watch Video Solution

12. In the figure below, part of the graph of

 is shown. What are the coordinatesy = sin 2x

https://dl.doubtnut.com/l/_iqPaGRG68moN
https://dl.doubtnut.com/l/_aZJheXwLrEpU


of point P? 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

( , 1)
π

2

(π, 1)

( , 1)
π

4

( , 2)
π

2

https://dl.doubtnut.com/l/_aZJheXwLrEpU


13. The figure below could be a portion of the

graph whose equation is 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

y − 1 = sin x ⋅ cos x

y sec x = 1

2y + 1 = sin 2x

1 − 2y = cos 2x

https://dl.doubtnut.com/l/_3YwVuZq1eg8Z


14. As  increases from  to , the value of 

A. increases, and then decreases

B. decreases, and then increases

C. decreases throughout

D. increases throughout

Answer: C

View Text Solution

θ
π

4

5π

4

4cos θ
1

2

https://dl.doubtnut.com/l/_L5YaHtZjP9QN
https://dl.doubtnut.com/l/_8aTSclhidIBt


15. The function  has

an amplitude of

A. 1.37

B. 1.73

C. 2

D. 2.73

Answer: C

Watch Video Solution

f(x) = √3 cos x + sin x

https://dl.doubtnut.com/l/_8aTSclhidIBt


16. For what value of P is the period off the

function  equal to ?

A. 

B. 

C. 

D. 3

Answer: D

Watch Video Solution

y = cos Px
1

3

2π

3

1

3

2

3

2

https://dl.doubtnut.com/l/_odvh9ADvdJx9
https://dl.doubtnut.com/l/_vKA4qArEcfji


17. If , what is the maximum value

of the function ?

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

0 ≤ x ≤
π

2

f(x) = sin x
1

3

1

3

1

2

√3

2

https://dl.doubtnut.com/l/_vKA4qArEcfji


18. If the graph in the figure below has an

equation of the form , what

is the value of N? 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

y = sin(Mx + N)

−π

−1

−
1

2

π

2

https://dl.doubtnut.com/l/_h5SM6PMbPzbk


View Text Solution

19. If , find

the value of sin 2x.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin x = and cos x = −
5

13

12

13

−
120

169

−
60

169

60

169

120

169

https://dl.doubtnut.com/l/_h5SM6PMbPzbk
https://dl.doubtnut.com/l/_c4NxuIwLVdAa


20. If tanA=cotB and angles A and B are acute,

then

A. A=B

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = 90∘ + B

B = 90∘ + A

A + B = 90∘

https://dl.doubtnut.com/l/_c4NxuIwLVdAa
https://dl.doubtnut.com/l/_hRvKA78WnWzf


21. If , find cos2x.

A. 

B. 

C. 

D. 0.5

Answer: D

Watch Video Solution

cos x =
√3

2

−0.87

−0.25

0

https://dl.doubtnut.com/l/_O7k8mBI9nHvb


22. If , express  in terms of

z.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 37∘ = z sin 74∘

2z√1 − z2

2z2 + 1

2z

2z2 − 1

https://dl.doubtnut.com/l/_MC8cB015t5eC
https://dl.doubtnut.com/l/_c2MfxHuCksPn


23. If , what is csc x?

A. 

B. 

C. 0.64

D. 1.56

Answer: B

Watch Video Solution

sin x = − 0.6427

−1.64

−1.56

https://dl.doubtnut.com/l/_c2MfxHuCksPn


24. For what value(s) of , is 

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x, 0 < x <
π

2

sin x < cos x

x < 0.79

x < 0.52

0.52 < x < 0.79

x > 0.52

https://dl.doubtnut.com/l/_261s0OroRqvv
https://dl.doubtnut.com/l/_Fz6wHtTUjSzZ


25. What is the range of the function

?

A. [-6,6]

B. [-5,5]

C. [-1,1]

D. [-1,11]

Answer: D

Watch Video Solution

f(x) = 5 − 6 sin(πx + 1)

https://dl.doubtnut.com/l/_Fz6wHtTUjSzZ


26. Find the number of degrees is 

A. 

B. 

C. 

D. 45

Answer: D

Watch Video Solution

sin− 1 √2

2

−45

−22.5

0

https://dl.doubtnut.com/l/_NMSHhMCZCrWx


27. Find the number of radians in

A. 

B. 

C. 

D. 2.17

Answer: D

View Text Solution

cos − 1( − 0.5624)

−0.97

0.97

1.77

https://dl.doubtnut.com/l/_ZoxrKx27PeNr
https://dl.doubtnut.com/l/_Z9FUgVIAUcLT


28. Evaluate 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1(tan 128∘ )

−128∘

−52∘

52∘

128∘

https://dl.doubtnut.com/l/_Z9FUgVIAUcLT


29. Which of the following is (are) true? 

I.  


II.  


III.  for all x in the

domain of 

A. Only I

B. only II

C. only III

D. only I and II

Answer: A

sin− 1 1 + sin− 1( − 1) = 0

cos − 1 1 + cos − 1( − 1) = 0

cos − 1 x = cos − 1( − x)

cos − 1

https://dl.doubtnut.com/l/_TP7FeQWz4V5a


Watch Video Solution

30. Which of the following is a solution of

?

A. 

B. 

C. 

D. 

Answer: D

cos 3x =
1

2

60∘

5π

3

cos − 1( )
1

6

cos − 1( )
1

3

1

2

https://dl.doubtnut.com/l/_TP7FeQWz4V5a
https://dl.doubtnut.com/l/_XfNPVMLriKu2


View Text Solution

https://dl.doubtnut.com/l/_XfNPVMLriKu2

